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1. (i)3dlq赫 ゴ漱蒻ヽ・ くul雷清やミ?
What arc thc stcps ofproduct dcsign process?

(ii)繭哺 f誨け新葺qlq l―さ?

What is thc diffcrcncc bctwccn routing and dispatching?

〔⊃甲。駅。■・Ⅱ翻さ?

ov)稼藉満(WfJuョ qJ HI)論哺剛｀翻諭 |

Deflne Scheduling。

lukrsiir: 70

[Maximum Marks : 70

(v) f*q dr6 fr RIftHI fr ffifi fft'r il+-f+' +1 qrmilrf,fu q'rq fr fuqr w {FFtT

さ?

In what typc of situations thc linear pЮgramming tcchnique can
successillly?

be applicd

(2X5)
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2. (i) Tcqrqq vq*r{ + 61q ff fta-d{r frFqq t

Discuss the scope of production management.

(ii) g?qrq 3Tnr6fli + ilqiffis Si qngffi{rffi GFqrqH *1 srgr$t t

Explain the functional and operational aspect of product design. (6+6)

3. (i) fci-JErnffqrdqqriftfuurgr$ t

Explain the least square method of forecasting.

0■。■・■・諭て町理Ⅲ研枷耐)希たRモ繭哺マ式 淵西呵ミ?
What info11.lations are cssential for efflcient working ofP.PoC。 ?       

“

+0

4.(i)uH‖ 赫 泳 HttU Sdi申 砥翼ゴ う颯 悧ヽ露派訳 |

E)istinguish betwccn aggrcgatc planning and inastcr production schedule.

〔i)甲・瓢 ■。希裁FttWゴー |

Explain the ottect市es and inctions ofMRP。                  (6+6)

5.o 3di申 舗前 諭哺雨ヽ翻い lsdi申輛前 哺― ― l

Deflne the production control.ExPlaln itS Structure.

〔i)舗 油 HヵH希 1訳れ 平繭可W前諭 Ч‖1ミ゛Чcф肴爺田
'30誡捕 さ|ね 論て制 90爺m哺 命口20,鋪7さ lミ卿 TrTI鋪7600刊 哺

u¶ 1でミlヽ戸爛¶l●う48Eた¬FR l al-OMマ喘命司尉でに可下Π櫛 |

A lathe machinc is used for tuming operation and it takes 30 minutes to proccss

the component. Efflciency of the lathe is 90%and scrap is 20%. Thc desircd

output is 600 pieces pcr weeko Considcr 48 hours pcr wccko Detcllllinc the

number oflathe machines required.                       (6+6)

6.6)奇.ボ.古。諭哺輔M翻論 l奇。轟:』。希甲咽鋼田引lミ ?
Deflne J.IoTo What are thc basic elerncnts ofJ.IoT。 ?

(ii)珈稀町fttI孤 ■で w■ .uHul珊 |%oH恵lπ照 哺衡ヽ|

Find the optimal solution to the LoPo problclns given using BTaphicallnethod.

Minil■ize Z=600 χl+500■2

SttteCted to 3000χ l+1000χ 2≧ 24,000

1000 xl+1000χ 2≧ 16,000

2000 χl+6000χ 2≧ 48,000

χl,均 ≧0                            (6+6)
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、 ラ.甲 Щ四,命師 輛 論可け,哺ボ)■・■命 耳覇い金f糊IR哺満 舗
″ W uф diミ 1誡 1.20m5含■Tl肴蘇きu師哺w uфdiさ 11我椰弾阪πl,20,000
■Tr論き命― 鮨剛甲哺゛帥 希諭 1絆RI

An item which is required by the company can be manufactured on any of the three

following machines and also it can be purchased at a price of t 1.20 per component.

Suggest the best option if the requirement is 1,20,000 units and give the decision rules.

q{nl

Machine

futqrrrc fO
Fixed Cost (Q

qffiaurrn6fiT)
Variable Cost ((/unit)

MI 9,000 0.75

M2 35,000 0.50

M3 92,000 0.05

(12)

8. ffi 6-* ifH{q frlqturqiftfuq :

Write short notes on any three :

(i) {d 3rdfu frq q 3rdfu or{Fnq

Long term and Short term forecast

(ii) Efc sr{Fi'r eFdq't{

Lot sizing considerations.

(iii) fr.fi. *ilq
Benefits of GT

(iv) {f,*ur4-41 tffiffrT l
Sequencing ●x4)



MP306 (4 of4) 3194

ノ


